i ? g g ¥ i i i i i - —
o = T g s A 2 2 5 n g : 5 s 2 a T 5 |l 8 .iw = T T 3 B B 23|z uwu g 5 |a 5 W s & T.m.z T N . 8 8 @ a3 wT 3 % B “T 2 10S07931d0
N 8 a B8 B 8 8 5 8 S 8 2 3 S 2 8 S g |} 8 8 8 3 S S g B 8 glalis 8 |8 I8 2 B |8 S B REB 8 & 8 8 8 8 B8 B B B2 5 8 8 8 S 3 B B ,
v W INOIZOd 1IN | LSO¥d
8 8 8 w B 8 8 8 8 5 ® 8 2 § B 3 2 8 s B 38 8 8 ® 8 3 8 8 2 |3 8
T I I E F P B §F (5 F ¢t r E & E |G i : sEE: EF B - TR
00°9%L=l 00's2=! 08'22=1 00°'cZ=l 00'vesl 0c'vzel #1'0=8 0L'9l=L | = 0c'90 = ce'gs=l ob'gt=1 81'00sl 60'0=8 0e'€l=L | p&'sem| 60°0=R 0Z'9h=L o¥'90=l 6600°0=! oofest 00°GZ=| 00°Gh= 00'ge=| —_— 00'G6=|
- 0001=4
51000+ | 82000 ? y \sai ses00m AMV/ e N - \aai K \sai \u.ﬂj \..s..._ 7/ \ﬁm/ 7 ag._/ 4N ,an/ -_ . . IMONOId IMN7 1 INVdS
8 2 2 8 8 2 8 8 8 8 8 8 8 8 2 2 2 | 8 2 8 8 ® 8 8 8 &mw 8 W awm g 8 |88 2 B B 2 s 3 8 B 8 |3 3 8 2 8 g |8 B8 2
S F R % @ o S 2 R 3 i 3 2 2 2 S 3 T R 2 R & r B 3 S E R = 3 8 g BB 8 BB % 2 B [B B 2 3 2 R X 2 2 & B 3 VNVMOLMIroNd YNGIZY
3 % 3 ] S 2 2 w @@.@@ =dd
> E B = Bk S -
g g 2 & s B 3 3
n [} n [[] [[] [[] n [[] n [[]
2 ; 8 2 2 T 2 2
R R > 5 B W 8 @ B 3 3
{ i
2
£ 0088
— . 1 oo
13
1 I S . { o
///\\/\/ S \\‘\ /// 00'88
/\ // \\ ” Ie.hc ||||||||||| 8.1 8P| QQ-@@
/ \\ 1
I ooos
) 00°'L6
W 0026
m:
H
3
ey AL S ANZOIGOd THOWI wsoBorp wpumig ] ] fwexiouonsod mpuford  —--—--—-- -
Towsky 6LSZTHONZL-aN sy Azef * 7y Fpmuwds && &&
Py 16/0E1/TVEL-Z- 39| DARMIASZIPUY-MMOD VrZSIN) 3} [r— fomayouossod mufold - — — — — —
m\R#\*ﬂ—:ﬂuw\uﬂan\-.ﬂ#a\wﬂaxﬁmw\ﬁaﬁn\ﬁ#ga\aﬂn\nﬂ PHEREP - S3IpV
- - 3umazopo) - ozsod PPy emopng
——o p/8L oEpRWZ T
s emctepraom=n | INOMHDEAL
aoesmy | AMOTANVH - OMOONISN AVDIVZ




